

HEADQUARTERS: 11 Hazen Drive, Concord, NH 03301-6500

wildnh.com e-mail: info@wildlife.nh.gov

(603) 271-3421 FAX (603) 271-5829

TDD Access: Relay NH 1-800-735-2964

January 21, 2021

Mr. Michael York State Librarian 20 Park Street Concord, New Hampshire 03301-6314

Dear Mr. York

Pursuant to RSA 215-A:3 IX and RSA 215-C:2 X, enclosed is the annual report that the Executive Director of the Fish and Game Department is required to file with the State Library. This report encompasses the time period from July 1, 2019 to June 30, 2020.

Registration totals for FY 2020 are as follows:

	RESIDENT	NON-RESIDENT	TOTALS
Snowmobile	27,334	15,813	43,147
ATV/UTV	19,349	8,951	28,300
Temporary OHRV	NA	3,386	3,386
Trail Bike	2,279	1,207	3,486
Transfers	994		
Dealer/Rental	811		
Antique/Event	862		

629B Main Street Lancaster, NH 03584-3612 (603) 788-3164 FAX (603) 788-4823 email: reg1@wildlife.nh.gov **REGION 2**

PO Box 417 New Hampton, NH 03256 (603) 744-5470 FAX (603) 744-6302 email: reg2@wildlife.nh.gov **REGION 3**

225 Main Street
Durham, NH 03824-4732
(603) 868-1095
FAX (603) 868-3305
email: reg3@wildlife.nh.gov

REGION 4

15 Ash Brook Court Keene, NH 03431 (603) 352-9669 FAX (603) 352-8798 email: reg4@wildlife.nh.gov



HEADQUARTERS: 11 Hazen Drive, Concord, NH 03301-6500 (603) 271-3421 FAX (603) 271-5829

Mr. Michael York

01/21/2021 wildnh.com
Page 2 e-mail: info@wildlife.nh.gov
TDD Access: Relay NH 1-800-735-2964

Enforcement

The New Hampshire Fish and Game Department is the primary OHRV/Snowmobile enforcement agency. Conservation Officers conducted enforcement patrols totaling 13,365.75 regular hours and 2,346.25 overtime hours through a twelve month period and checked approximately 62,153 vehicles for compliance. During this period, Conservation Officers issued 1,326 summonses and 992 warnings for violations of Chapters 215-A and 215-C.

During the winter, Conservation Officers continued snowmobile enforcement efforts to control excessive speed, unlawful operation, and modified exhausts while working cooperatively with landowners and snowmobile clubs to keep the trails safe. The statewide snowmobile trail system exceeds 7,000 miles. Loud exhausts and operating without landowner permission (off trail) are the primary complaints leading to the closing of snowmobile trails on private property. Modified exhausts, excessive speed and irresponsible off-trail riding are areas of continued concern. Conservation Officers focus patrol efforts on these problems through speed enforcement details, trail patrols and community policing initiatives.

Conservation Officers conduct wheeled vehicle or Off Highway Recreational Vehicle (All-Terrain Vehicle (ATV), Utility Terrain Vehicle (UTV), and trail bike) enforcement patrols from spring through fall to improve overall trail safety and address unlawful operation. Officers work with riders, landowners, clubs and local law enforcement to control illegal operation, illegal/loud exhaust, and help ensure safety on a growing network of maintained and approved trails on state and private land. Currently, NH has over 1,000 miles of OHRV trails on several interconnected systems, the largest trail network in the Northeast.

In addition, many of these OHRV trail systems provide extensive use of local and state public roadways to access services and provide further interconnectivity. These significant increases in ATV/UTV riding opportunities have significantly increased our enforcement, administrative and coordination responsibilities particularly in Coos County. In addition to existing trail systems, many towns statewide are opening their roadways to OHRVs.

OHRV registrations continue to remain high. However, budget restrictions, past and present, have prevented filling vacant Conservation Officer patrol areas and open/unfunded Conservation Officer positions needed to keep up with the increase in activity. This has negatively impacted our ability to meet constituent demands for adequate enforcement patrol coverage and constituent complaints. There is substantial justification to fill several vacant patrol positions. Numerous attempts to do so have been unsuccessful. Currently there are only thirty-two (32) Conservation Officers, six (6) Sergeants, and six (6) Lieutenants statewide including four (4) assigned to administrative duties at Headquarters. Currently we have no trainees.

REGION 1

629B Main Street Lancaster, NH 03584-3612 (603) 788-3164 FAX (603) 788-4823 email: reg1@wildlife.nh.gov

REGION 2

PO Box 417 New Hampton, NH 03256 (603) 744-5470 FAX (603) 744-6302 email: reg2@wildlife.nh.gov

REGION 3

225 Main Street
Durham, NH 03824-4732
(603) 868-1095
FAX (603) 868-3305
email: reg3@wildlife.nh.gov

REGION 4
15 Ash Brook Court
Keene, NH 03431
(603) 352-9669
FAX (603) 352-8798
email: reg4@wildlife.nh.gov



HEADQUARTERS: 11 Hazen Drive, Concord, NH 03301-6500 (603) 271-3421 FAX (603) 271-5829

wildnh.com Mr. Miche-mall: info@wildlife.nh.gov IDD Access: Relay NH 1-800-735-2964 01/21/2021 Page 3

Due to normal day-on/day-off rotations, on any given day there are only fifteen (15) to twenty (20) Conservation Officers covering the entire state. This coverage is not limited to OHRV/Snowmobile enforcement but also includes their primary duties of wildlife law enforcement as well as search and rescue obligations. This low number of Conservation Officers (34) is equal to the number of Conservation Officers New Hampshire had in 1950. This low number, despite the significant increase in duties, responsibilities, and population underscores the need to revise our funding model and establish a new source of stable, dedicated funding for the Department.

OHRV/Snowmobile Safety Education

The Law Enforcement Division, through the Safety Education Program, actively promotes the safe and responsible operation of all recreational vehicles, facilitating this objective through enhanced enforcement patrols and safety education classes. The objective is to modify the behavior of the irresponsible rider and to promote safe trail systems. This is accomplished with the cooperation of the Bureau of Trails (DNCR), OHRV and snowmobile clubs, and statewide associations.

Fish and Game continues to coordinate over 150 volunteer OHRV and snowmobile instructors who, along with part-time OHRV Regional Coordinators, conduct safety classes across the state with the assistance of local clubs, police/fire agencies and volunteers. Safety Education Certification is required of any rider who operates off of their land and is over the age of twelve (12) who does not possess a valid driver's license. Program staff continues to work with interested individuals, state associations and national organizations to develop new safety initiatives. The Department certified 1,797 students in FY 2020. The OHRV Online Safety Education certification program is growing in popularity. This alternative method of certification supplements the long standing traditional classroom course taught by volunteer instructors and parttime regional coordinators. The online course was implemented as a result of constituent demand for readily available methods of certification for non-residents traveling to NH to ride as well as resident's desire for modernized, flexible certification options. In compliance with RSA 215-A:19, IX and RSA 215-C:34, VIII, the Law Enforcement Division continues to administer the statutorily required Responsible Riders Safety Education Class, as needed, to those who are convicted of operating while intoxicated, disobeying a police officer, skimming open water or operating to endanger any person or property.

The Law Enforcement Division's OHRV/Snowmobile Program funds a full time Conservation Officer Program Coordinator, one full-time program assistant, and part-time regional coordinators to perform OHRV/snowmobile related duties. In addition, the Division is attempting to implement, at the suggestion of the Joint Legislative Fiscal REGION 1

629B Main Street Lancaster, NH 03584-3612 (603) 788-3164 FAX (603) 788-4823 email: reg1@wildlife.nh.gov

PO Box 417 New Hampton, NH 03256 (603) 744-5470 FAX (603) 744-6302 email: reg2@wildlife.nh.gov 225 Main Street
Durham, NH 03824-4732
(603) 868-1095
FAX (603) 868-3305
email: reg3@wildlife.nh.gov

15 Ash Brook Court Keene, NH 03431 (603) 352-9669 FAX (603) 352-8798 email: reg4@wildlife.nh.gov



HEADQUARTERS: 11 Hazen Drive, Concord, NH 03301-6500 (603) 271-3421 FAX (603) 271-5829

Mr. Michael York wildnh.com 01/21/202 mail: info@wildlife.nh.gov TDD Access: Relay NH 1-800-735-2964 Page 4

Committee, two full time Conservation Officers dedicated to OHRV/Snowmobile enforcement.

Registrations and Revenue

There were 80,986 OHRV/Snowmobiles registered in the FY 2020 season, compared to 82,481 OHRV/Snowmobiles in FY 2019. This is a 1,495 decrease in registrations in FY2020. With the decrease in registered machines, it did not decrease the calls to service/complaints; responding to landowner complaints, accident investigations and reports continue to take up a large component of a Conservation Officer's time. Pursuant to RSA 215-A: 32-a and RSA 215-C:53, the New Hampshire Fish and Game Department is required to furnish OHRV and Snowmobile death and injury statistics to the Registrar of Vital Records. Copies of these statistical reports are attached.

In accordance with RSA 215-A: 23 and RSA 215-C: 39, the Fish and Game Department collected \$6,049,923.90 in registration fees and permits in FY 2020. A breakdown of fees collected per OHRV Category is attached. Pursuant to RSA 215-A: 23 and RSA 215-C: 39, the Fish and Game Department forwarded \$4,256,739.00 to the Department of Natural and Cultural Resources, Bureau of Trails. The Fish and Game Department retained the remaining amount of \$2,125,646.00 for OHRV/Snowmobile enforcement, OHRV Safety Education and Training, Wheeled Vehicle Enforcement Contracts, and processing of Registration materials. Funds available to the department were as follows: \$1,872,989.00 for OHRV and Snowmobile Enforcement, Education and Training, and \$252,657.00 for the administration of the OHRV and Snowmobile Registration Program.

These funds are non-lapsing and are utilized conservatively, in part to help offset minimal snow winters when snowmobile registrations and related funds can dip substantially. This scenario occurred during FY 2016 when only 22,880 snowmobile registrations were sold, representing a 53% decrease from the previous FY 2015 and 107% less than FY 2017. This carry-over funding process from one year to the next is vital to the stability and sustainability of the program.

The New Hampshire Fish and Game Department also entered into OHRV Law Enforcement Contracts with 12 local police agencies for a total of \$39,960.00. These contracts aid in providing patrol coverage and mitigating landowner complaints.

629B Main Street Lancaster, NH 03584-3612 (603) 788-3164 FAX (603) 788-4823 email: reg1@wildlife.nh.gov **REGION 2**

PO Box 417 New Hampton, NH 03256 (603) 744-5470 FAX (603) 744-6302 email: reg2@wildlife.nh.gov **REGION 3**

225 Main Street
Durham, NH 03824-4732
(603) 868-1095
FAX (603) 868-3305
email: reg3@wildlife.nh.gov

REGION 4 15 Ash Brook Court Keene, NH 03431 (603) 352-9669

FAX (603) 352-8798 email: reg4@wildlife.nh.gov



HEADQUARTERS: 11 Hazen Drive, Concord, NH 03301-6500 (603) 271-3421 FAX (603) 271-5829

Mr. Michael-York

01/21/2021 wildnh.com
Page 5 e-mail: info@wildlife.nh.gov
TDBAccess: Relay NH 1-800-735-2964

The following are attached for FY 2020 (7/2019-6/2020):

- 1. Off Highway Recreational Vehicle Safety Education Courses that were conducted by Department personnel and volunteers, as well as online.
- 2. Vital Statistics Report
- 3. OHRV and Snowmobile Accident Statistics Reports
- 4. Fee Table

You may contact Captain Michael Eastman at 603-271-3129 if you need additional information regarding this report.

Sincdrely,

Scott R. Mason Executive Director

Original Copies to:

Chair, House Fish and Game and Marine Resources Committee

Chair, House Resources, Recreation and Development Committee

Chair, House Transportation Committee

Chair, House Ways and Means Committee

Chair, Senate Energy and Natural Resources Committee

Chair, Senate Ways and Means Committee

629B Main Street Lancaster, NH 03584-3612 (603) 788-3164 FAX (603) 788-4823 email: reg1@wildlife.nh.gov PO Box 417 New Hampton, NH 03256 (603) 744-5470 FAX (603) 744-6302 email: reg2@wildlife.nh.gov

REGION 3

225 Main Street
Durham, NH 03824-4732
(603) 868-1095
FAX (603) 868-3305
email: reg3@wildlife.nh.gov

REGION 4

15 Ash Brook Court Keene, NH 03431 (603) 352-9669 FAX (603) 352-8798 email: reg4@wildlife.nh.gov Mrs. Denise Gonyer Director of Vital Records Administration New Hampshire Department of State Division of Vital Records Administration 9 Ratification Way Concord, New Hampshire 03301-2410 01/21/2021

Dear Director Gonyer,

Pursuant to RSA 215-A:32-a and RSA 215-C:53, I am filing the NH Fish and Game Department's annual report of deaths and injuries occurring in the state related to the operation of snowmobiles, all-terrain vehicles (ATV), utility terrain vehicles (UTV) and trail bikes during the time period from July 1, 2019 to June 30, 2020.

	TOTAL REGISTRATIONS	DEATHS	<u>INJURIES</u>
Snowmobile	41,275	2	92
ATV/UTV	28,586	1	73
Temporary OHRV	3,386		
Trail Bike	3,761	2	10
Antiques	862		

I have enclosed copies of the Accident Statistics Reports pertaining to each vehicle type. You may contact Captain Michael Eastman at 603-271-3129 should you need any additional information concerning these reports.

Sincerely,

Executive Director, NHF&G

NEW HAMPSHIRE FISH AND GAME DEPARTMENT SUPPORT SERVICES DIVISION - LICENSING/OHRV



	New	Hamp	shire
			M
	п	m	v
Non-Honorable	n Plah A	. October 1	

	ROAD TOLL DISTRIBUTION REPORT			C. C. Care						
	OFF HIGHWAY RECREATIONAL VEHICLE RE	GISTRAT	TONS IS	SUED 06/01/1	9 to 04/30/20		New Hompshir	re Pich & G	me Separanea	
		Total	Agent	Total Amt		Total DNCR		Adj	Net	
	Description	Count	Cost	Issued	DNCR	Allocation	ADJ	Amt	Count	Net Amount
311	OHRV Dealer Plates	256	\$46.50	\$11,904.00	\$32.89	\$8,419.84	0	\$0.00	256	\$8,419,84
312	OHRV Rental Plates	555	\$76.40	\$42,402.00	\$59.93	\$33,261.15	0	\$0.00	555	\$33,261,15
317	Antique Registration	862	\$47.50	\$40,945.00	\$36.50	\$31,463.00	0	\$0.00	862	\$31,463.00
600	Transfer / Replacement	994	\$18.50	\$18,389.00	\$14.00	\$13,916.00	0	\$0.00	994	\$13,916.00
601	Resident Member Snowmobile	19376	\$61.00	\$1,181,936.00	\$47.00	\$910,672.00	0	\$0.00	19376	\$910,672.00
602	Resident Non-Member Snowmobile	6086	\$91.00	\$553,826.00	\$77.00	\$468,622.00	0	\$0.00	6086	\$468,622,00
603	Resident Member Other (ATV, etc.)	7958	\$52.00	\$413,816.00	\$31.30	\$249,085.40	0	\$0.00	7958	\$249,085.40
604	Resident Member Trail Bike (2 wheel)	914	\$43.00	\$39,302.00	\$22.30	\$20,382.20	0	\$0.00	914	\$20,382.20
605	Resident 14 Month Member (May & Jun) Other, ATV	962	\$61.00	\$58,682.00	\$37.02	\$35,613.24	0	\$0.00	962	\$35,613.24
606	Resident 14 Month Member Trail Bike (May & Jun)	233	\$50.00	\$11,650.00	\$26.02	\$6,062.66	0	\$0.00	233	\$6,062.66
613	Resident Non-Member Other (ATV etc)	9215	\$82.00	\$755,630.00	\$61.30	\$564,879.50	0	\$0.00	9215	\$564,879,50
614	Resident Non-Member Trail Bike	1132	\$73.00	\$82,636.00	\$52.30	\$59,203.60	0	\$0.00	1132	\$59,203.60
615	Res 14 Month Non-Member Other (ATV etc)	1214	\$91.00	\$110,474.00	\$67.02	\$81,362.28	0	\$0.00	1214	\$81,362.28
616	Res 14 Month Non-Member Trail Bike	343	\$80.00	\$27,440.00	\$56.02	\$19,214.86	0	\$0.00	343	\$19,214.86
620	Non Resident Member Snowmobile	11360	\$81.00	\$920,160.00	\$64.20	\$729,312.00	0	\$0.00	11360	\$729,312.00
621	Non Resident Non-Member Snowmobile	4453	\$111.00	\$494,283.00	\$94.20	\$419,472.60	0	\$0.00	4453	\$419,472.60
622	Non Resident Member Other (ATV, etc.)	3883	\$71.00	\$275,693.00	\$39.10	\$151,825.30	0	\$0.00	3883	\$151,825.30
623	Non Resident Member Trail Bike (2 wheel)	321	\$62.00	\$19,902.00	\$30.10	\$9,662.10	0	\$0.00	321	\$9,662.10
625	Non Resident 14 Month Member Other (May & Jun)	591	\$83.00	\$49,053.00	\$45.95	\$27,156.45	0	\$0.00	591	\$27,156.45
626	Non Resident 14 Month Member Trail Bike (May & Jun)	68	\$73.00	\$4,964.00	\$35.95	\$2,444.60	0	\$0.00	68	\$2,444.60
631	Temporary Non Res Wheeled 10 Day (May-Aug)	3386	\$35.00	\$118,510.00	\$24.00	\$81,264.00	0	\$0.00	3386	\$81,264.00
632	Non Res Non-Member Other (ATV etc)	3775	\$101.00	\$381,275.00	\$69.10	\$260,852.50	0	\$0.00	3775	\$260,852.50
633	Non Res Non-Member Trail Bike	643	\$92.00	\$59,156.00	\$60.10	\$38,644.30	0	\$0.00	643	\$38,644.30
635	Non Res 14 Mon Non-Member Other (ATV etc)	702	\$113.00	\$79,326.00	\$75.95	\$53,316.90	0	\$0.00	702	\$53,316.90
636	Non Res 14 Mon Non-Member Trail Bike	175	\$103.00	\$18,025.00	\$65.95	\$11,541.25	0	\$0.00	175	\$11,541.25
699	Unaccounted for Registration	3	\$111.00	\$333.00	\$94.20	\$282.60	0	\$0.00	3	\$282.60
	Totals for OHRV Registrations	79460		\$5,769,712.00		\$4,287,932.33	0	\$0.00	79460	\$4,287,932.33



OHRV AND SNOWMOBILE SAFETY EDUCATION PROGRAM



OHRV Instruction Student Activity Report 7/1/2019 to 6/30/2020

Thursday, February 4, 2021

OHRV Instruction Area		Passed	
ALL		1752	,
ATV/TB		44	
COMBINED		10	
OHRV/SNOWMOBILE		3	,
	Totals	1809	



Accidents Involving - All OHRV's

7/1/2019 - 6/30/2020

Accident Summary

Total Reported Accidents:	78	Total People Involved:	131
Total Vehicles Involved:	83	Total Injured:	82
Total Operators Reported:	83	Total Fatalities:	3

ACCIDENT INF	ORMATI	ON	Total Reported Accidents: 78							
REPORTS FIL	TYI	PE O	F INCIDE		TERRAIN					
Police:	66		C	Collision: 22			Trail - bare ground:	42		
Operator:	7			Fell off: 10			Snow-Groomed Trail:	0		
Medical Facility:	0		I	Rollover: 39			Snow-Ungroomed Trail:	0		
Parent/Guardian:	0	F	ire/Ex	cplosion: 1			Frozen Lake/River:	1		
Owner:	5		-	Thru ice: 0		Road:	10			
No Entry:	0	Ran off R	oadw	ay/Trail: 6			Field/Lawn:	13		
							Woods - no trail:	3		
VIOT ATTON	a	CO		OYONI XXIII	rŦ		Airport:	0		
VIOLATION	<u>3</u> ,	<u>co</u>		SION WIT	<u>H:</u>		Parking lot:	2		
Ticket/Arrests:	22	Snowmobile:	1		Tree:	7	Sand pit:	1		
Warnings:	8	ATV:	3		Rock:	1	Race Track:	0		
Blood Draws:	7	Trail Bike:	1	Pos	t/Pole:	1	Rail Road:	0		
		Car/Truck:	0	Guar	d Rail:	0	Other:	6		
	_	Train:	0	Enbankment	ditch:	0				

		Out travili		Outli to I tolli.	
LOCATION		Train:	0	Enbankment/ditch:	0
LOCATION	<u> </u>	Maint. Equip.:	0	Building:	0
Public Property:	46	Pedestrian:	0	Fence/Gate:	2
Private Property:	32	Animal:	0	Other:	62
No Entry:	0				

TIME		DAY O	F WEEK		W	EAT	HER		COUNTY	7 -
8:00am-Noon: Noon-4:00pm: 4:00pm-8:00pm: 8:00pm-Midnight: Midnight-4:00am:	12 35 1 11 2	Sun: Mon: Tue: Wed: Thu:	1 8	Clear: Rain: Snow:	65 1 0		oudy/Overcast: Freezing Rain: No Entry:	12 0 0	Belknap: Carroll: Cheshire: Coos: Grafton:	5 1 2 35 9
4:00am-8:00am: No Entry:	1 0	Fri: Sat:	10 28	Dark, no Dark, lighted	light	: 8 : 3	DITIONS Daylight: Dusk/Dawn:	61 6	Hillsborough: Merrimack: Rockingham: Strafford: Sullivan: No Match:	0 3 12 1 4 6



Accidents Involving - All OHRV's

7/1/2019 - 6/30/2020

										_		
VEHICLE INFORM	MATION		Tota	al V	<u>ehicles Involv</u>	ed:	83					
TYPE	ES OF VE	HICLES			YEA	R	MAKE			ENGINE SIZE		
_	Trail Bikes:	11 Γrail M	Aaint:	0	<1970	5		Polaris	31		<300:	19
Cars or Trucks: 0	ATVs:		Other:	2	70-79:	0		ONDA	11		300-399:	4
Tracked ATVs: 0	UTVs:	22			80-89:	2	_	N-AM	10		400-499:	16
CONTRIB	UTING F.	<u>ACTORS</u>			90-99: 00-09:	1 22	ARCTI	JZUKI	8		500-599: 600-699:	16
Unsafe Speed:	34	Hit by Vehic	le: 2)	10-19:	22 48		MAHA	8 6		700-699: 700-799:	4 5
Alcohol/Drugs:	9	Mechanica			20-29:	4		ASAKI	4		800-899:	3
Inattention:	9	Anima	-		30+:	1	TAO M		2		900-999:	3
Inexperience:	24	Thin ic			No Entry:	0		KTM	1		1000+:	13
Reckless/Careless:		truction/Debr			•		Go	olf Cart	1	N	No Entry:	0
Following too Close:	2 \ \	iew obstructe		3	# of RENTA	LS	RFZ RA	ACING	1			
Failed to Yield/Stop:	0	Icy Tra										
Improper Turn:	8 Failure	to Keep Righ	ht: 2	2	7							
Operating on Road:	2											
OPERATOR INFO	OPERATOR INFORMATION Total Operators Involved: 83 OPERATOR AGES											
		_						Under		4	40-49:	_
GENDER		RESIDEN	$\underline{\mathbf{CY}}$		SAFETY EDI	<u>UCA</u>	TION	12-		6	50-59:	-
Male: 64		Residents:	50		Certif	ied:	16	16-		10	60-69:	
Female: 19	No	n-Residents:	33		Not Certif	ied:	66	20-2		15	70+:	2
								30-3	39:	12	No Entry:	1
PEOPLE INVOLVI	ED INFO	MATION	Tots	ı P	eople Involve	d.	131					
			. —									
<u>GENDER</u>	Ī	RESIDENC	$\mathbf{\underline{CY}}$	$\underline{\mathbf{S}}$	AFETY EQU	IPM	ENT	<u>ALL</u>	IN	VOI	LVED AC	<u>GES</u>
Male: 94		Residents:	78	He	lmet & Eye Prote	ction:	52	Under	12:	7	40-49:	18
Female: 37	Nor	n-Residents:	53		Helmet	Only:	7	12-		15	50-59:	
					No He	elmet:	54	16-		13	60-69:	
					No I	Entry:	18	20-2		29	70+:	
Total People Injure	ed: 82							30-3	39:	20	No Entry:	3
INJURY LOC	ATION				<u>INJURY</u>	TYI	PE					
No Injury:	51				No Inji	ırv:	49					
Head:					Amputati	_	0					
Neck:	3				Concussi		5					
Arms:	9				Interr	nal:	8					
Hands:	3				Bleedi	_	9					
Legs:					Fracture/Disl		32					
Feet:					Bru		5					
Back/Torso:	0					ırn:	0					
Entire Body:	6				Oth No Em		6					
No Entry:	10				No Em	ury:	17					



Accidents Involving - Snowmobiles

7/1/2019 - 6/30/2020

Accident Summary

Total Reported Accidents: 66 Total People Involved: 92
Total Vehicles Involved: 76 Total Injured: 65
Total Operators Reported: 74 Total Fatalities: 2

ACCIDENT INFORMATION

Total Reported Accidents: 66

ACCIDENT INF	UKIMA	IUN	1 otal Reported Accidents: 66								
REPORTS FIL		PE O	F INCIDENT		TERRAIN						
Police:	53		C	Collision: 40		Trail - bare ground:	1				
Operator:	10			Fell off: 9		Snow-Groomed Trail:	52				
Medical Facility:	0]	Rollover: 7		Snow-Ungroomed Trail:	4				
Parent/Guardian:	1	F	ire/Ex	xplosion: 0		Frozen Lake/River:	2				
Owner:	2		1	Thru ice: 0		Road:	1				
No Entry:	0	Ran off R	oadw	ay/Trail: 10		Field/Lawn:	3				
						Woods - no trail:	0				
MOI ATTOM	a	600	T T T	CYANI XXIVIDIT		Airport:	0				
VIOLATION	<u>5</u>	<u>co</u>	LLL	SION WITH:		Parking lot:	2				
Ticket/Arrests:	13	Snowmobile:	11	Tree	: 22	Sand pit:	0				
Warnings:	1	ATV:	0	Rock	: 0	Race Track:	0				
Blood Draws:	6	Trail Bike:	0	Post/Pole	: 1	Rail Road:	0				
		Car/Truck:	0	Guard Rail:	0	Other:	1				
Y 0 0 4 FT 0 1		Train:	0	Enbankment/ditch:							
LOCATION		Maint Paris	^	D., 1141	. 1						

		Car/Truck:	0	Guard Rail:	0
LOCATION	.T	Train:	0	Enbankment/ditch:	4
LOCATION	<u> </u>	Maint. Equip.:	0	Building:	1
Public Property:	43	Pedestrian:	0	Fence/Gate:	0
Private Property:	23	Animal:	0	Other:	27
No Entry:	0				

TIME		DAY O	F WEEK		V	COUNTY				
8:00am-Noon:	12	Sun:	18	Clear:	43	Clo	oudy/Overcast:	20	Belknap:	1
Noon-4:00pm:	32	Mon:	3	Rain:	0	Sleet/	Freezing Rain:	1	Carroll:	7
4:00pm-8:00pm:	0	Tue:	2	Snow:	2		No Entry:	0	Cheshire:	0
8:00pm-Midnight:	5	Wed:	4						Coos:	44
Midnight-4:00am:	0	Thu:	3						Grafton:	9
4:00am-8:00am:	0	Fri:	7	LIG	HT (Hillsborough:	0			
No Entry:	0	Sat:	29						Merrimack:	2
				Dark, no	_		Daylight:	53	Rockingham:	0
				Dark, lighted			Dusk/Dawn:	3	Strafford:	3
				No I	Entry	0			Sullivan:	0
									No Match:	0



Accidents Involving - Snowmobiles

7/1/2019 - 6/30/2020

VEHICLE INFOR	TAJE A TEN	ION		Т-4-	. I X7	ahialas Y	J.	76					
VEHICLE INFORMATION					Total Vehicles Involved:								
TYPES OF VEHICLES						YEA	<u>AR</u>	MAKE			ENGINE SIZE		
Snowmobiles: 75 Cars or Trucks: 0 Tracked ATVs: 0 CONTRI	Bikes: 0 ATVs: 0 JTVs: 1		aint: ther:	0	<1970 70-79: 80-89: 90-99:	0 0 0 2	PC ARCTI	LARIS 2 C CAT	3 6 8 8	<300: 300-399: 400-499: 500-599:	2 1 1 6		
***					00-09:	17			1	600-699:	30		
Unsafe Speed: Alcohol/Drugs: Inattention: Inexperience: Reckless/Careless: Following too Close: Failed to Yield/Stop: Improper Turn: Operating on Road:	20 2 16 33 2 1 1 7	Mo Obstruction	bstructed Icy Trail	: 5 : 0 : 0 : 5 !: 0	;) ;	10-19: 20-29: 30+: No Entry: # of RENTA	38 18 1 0 ALS				700-799: 800-899: 900-999: 1000+: No Entry:	0 22 4 10 0	
OPERATOR INFO	RMA	TION		Tota	10	perators Inv	olved	: 74	OPI	ERAT	OR AGE	S	
GENDER Male: 52 Female: 22			IDENC idents: idents:			SAFETY ED Certi Not Certi	UCA fied:		Under 12 12-15 16-19 20-29 30-39	: 2 : 1 : 20	40-49: 50-59: 60-69: 70+: No Entry:	14 9 4	
PEOPLE INVOLVED INFORMATION Total People Involved: 92													
GENDER	RESI	RESIDENCY SAFETY EQUIPM					IENT ALL INV			OLVED AGES			
Male: 59 Female: 33 Total People Injur	<u>ed:</u>	Resin Non-Resid		40 52	Hel			1	Under 12 12-15 16-19 20-29 30-39	: 6 : 1 : 24	40-49: 50-59: 60-69: 70+: No Entry:	16 9 5	
INJURY LOCATION						INJURY TYPE							
No Injury Head Neck Arms Hands Legs Feet Back/Torso Entire Body No Entry	: 11 : 1 : 9 : 3 : 20 : 12 : 1 : 3					В	tion: sion: rnal: ling: sloc: uise: ourn: ther:	27 0 5 8 1 31 8 0 3					